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Halle was playing a board game with her brothers and sisters. In her first turn, she was allowed to move her game piece 5 spaces forward. In her next few turns, she moved her game piece 2 spaces backward, 6 spaces forward and 1 space backward. Which expression shows how many spaces she had advanced forward after all of these turns?
A
5 - 2 – 6 - 1

B
5 - 2 + 6 - 1

C
5 + 2 + 6 - 1

D
5 + 2 – 6 + 1
2
A dance recital lasted 
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 hours. Myriam danced for 
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 minutes, and Lisa danced for 
[image: image3.wmf]4

1

3

 minutes. Which equation can be used to find d, the total amount of time Myriam and Lisa danced?
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The table below shows a set of related numbers.

	2
	3
	4
	5
	6
	7

	6
	9
	x
	15
	18
	21


Which expression could be used to find x?

A
9 + 2

B
4 x 5

C
4 x 3

D
4 + 6

4
Laurence was asked to find 2 integers that have a difference of 1 and a sum of 59. He said the integers were 29 and 28. Why was Laurence’s answer incorrect?
A
The difference between 29 and 28 is not 1.

B
The difference between 29 and 28 is 1.

C
The sum of 29 and 28 is 59.

D 
The sum of 29 and 28 is not 59.

5

Look at the pattern below.

6,12,24,______,96,192,384

Which expression could you use to find the missing number?

A
6 x 4

B
6 x 5

C
24 + 12

D 
24 x 2

6

Which factorization represents 52 x 23?

A
5 x 5 x 2 x 2 x 2

B
2 x 2 x 2 x 2 x 2 x 3 x 3

C
10 x 6

D 
5 x 2 x 2 x 3

7

At a spring band concert the prize was awarded to the person sitting in the chair numbered with the least common multiple of 12, 15, and 30. Find the number of the prizewinning chair.

A
60

B
45

C
30

D 
15

8

Cheese slices come in packages of 16. Ham slices come in packages of 10. Mrs. Adams wants to put 1 cheese slice and 1 ham slice on each sandwich made for a school picnic. If she wants to buy the fewest number of cheese and ham slices and have none left over, how many packages of each should she buy?
A
3 cheese and 3 ham

B
3 cheese and 4 ham

C
5 cheese and 8 ham

D 
8 cheese and 5 ham
9
Mrs. Jay wrote the following input-output chart on the chalkboard.

	Input
	Output

	6
	36

	4
	24

	10
	60

	8
	48

	9
	54


What is the rule Mrs. Jay used to get each output number from each input number?

A
+ 30




C
 x 6

B 
 x 5




D
+ 12
10
Which choice gives the correct order of operations needed to find the value of 2(15 – 5) · (8 + 2)?

A
x, -, x, +

B
-, x, +, x

C
x, x, -, +
D 
x, +, -, x

11

Travis used the following 4 lengths of nails for his building project: 
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 inch. Which shows the nails in order from shortest to longest?
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Which expression shows the prime factorization of 18?

A
2 x 32
B
22 x 32

C
22 x 33

D 
1085 

13

Use a factor tree to find the prime factors of 36.

14

Jennifer has 36 packages of cookies for a party. Each package contains 24 cookies. How many cookies does Jennifer have in all?

15

A gymnastics coach ordered 15 T-shirts for her team. The total cost of the T-shirts was $165.00. How much did each T-shirt cost?

16

Hannah is making a picture frame. The length of the frame is 34.5 cm. The width of the frame is 7.25 cm less than the length. How wide is the frame in centimeters?

17

What is the greatest common factor of 42 and 70?

18

What is the least common multiple of 24 and 18?
19

Which of these two fractions, 
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, is greater?

20

Janna must buy supplies for a party. Cups come in packages of 8, and plates come in packages of 12. Janna wants to have an equal number of cups and plates. What is the fewest number of packages of each she should buy?
A
2 packages of cups, 2 packages of plates

B
3 packages of cups, 2 packages of plates

C
4 packages of cups, 6 packages of plates

D 
4 packages of cups, 3 packages of plates

21

A broken gate in Daniel’s backyard was 4 feet tall. To repair the gate, Daniel needed a board that was 
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 feet long. He found a board in his father’s wood shop that was 
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 feet long. How much of the board that is 
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 feet long is left after Daniel cuts off what he needs?
22
7, 14, 16, 8, 6, 12, ​___, ___, ___
What are the next three numbers in the sequence?
23

Cindy and 2 friends ordered a large pizza for $9.00, 3 large drinks for $0.99 each, and a salad for $1.50. If they split these costs evenly, which equation can be used to find c, the amount in dollars and cents each person should pay, not including tax?
A
c = 9.00 + 0.99 + 1.50 ÷ 3

B
c = 9.00 + 3 x (1.50 ÷ 3)

C
c = (9.00 + 0.99 + 1.50) ÷ 2

D 
c = (9.00 + 3 x 0.99 + 1.50) ÷ 3

24

Dylan created the following input-output chart.

	Input
	Output

	8
	4

	36
	18

	12
	6

	14
	7

	16
	8


If Dylan wrote “10” in the input column, what number would he write in the output column?
25

What is the least common multiple of 8 and 12?

A
24

B
16

C
12

D 
8

26

Which expression shows the prime factorization of 28?
A
2 x 14

B
4 x 7

C
2 x 2 x 7

D 
28 x 1

27

What is the greatest common factor of 15 and 45?

28

When all the check-out lanes are open at a grocery store, the store can serve an average of 195 customers an hour. Which is the best estimate for the number of customers that can be served in an 8-hour period if all check-out lanes are open?

A
200

B
400

C
1,500

D 
1,600

29

The chart shows how far 4 classes traveled for field trips.

	Class
	Distance (miles)

	Clark
	1/8

	Hudson
	3/4

	Garcia
	1/3

	McGee
	4/5


List the classes in order from least to greatest distance traveled?

30

Use a factor tree to determine the prime factors of 25.
31

Mikey, Kristen, and Ricky went to the beach. Mikey plans on getting in the water every 2 minutes, Kristen plans on getting in the water every 8 minutes and Ricky plans on getting in the water every 4 minutes. If they just got to the beach, how long will it be until they are all in the water at the same time?
32

Find the missing number in the pattern.

54, 53, 51, 48, ___, 39, 33, 26, 18
33

Evaluate the expression.

12 ÷ (6 – 2) – 3 x 1
34

Solve the following problem using regrouping.
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Solve the following problem using regrouping.
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The fraction 
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 is equivalent to:
A
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Evaluate.

6 ÷ 0.25

38

Evaluate. 

0.375 x 4.25

39

Which expression shows the prime factorization of 56?
A
2 x 28

B
32 x 7

C
23 x 7

D 
1 x 56

40

Which of the following is not an improper fraction?


A. 22/3


B. 5/5


C. 21/22


D. 6/5


E. none of the above

Bonus 1
Q: What term is defined by the following statement?

A number that divides into a whole number with a remainder of zero.

A
integer


C
least common multiple
B
improper fraction

D
factor
E
none of the above

Bonus 2
Q: What number is an improper fraction always greater than?

Bonus 3
Q: The least common denominator is...
A. an important step in multiplying fractions

B. the way to add fractions with the same denominator

C. always a prime number

D. the least common multiple of the denominators of two fractions

E. none of the above
Bonus 4
Q:  All of the following statements about divisibility patterns are true except:

A. A number is divisible by 9 if the sum of the digits is divisible by 9

B. A number is divisible by 6 if the number is divisible by 3

C. A number is divisible by 5 if the ones digit is 0

D. A number is divisible by 2 if the ones digit is divisible by 2

E. none of the above

Bonus 5
Q: A mother and father have six sons and each son has one sister. How many people are in that family?

Bonus 6
Q: In order to solve the problem 15/24 - 4/8 in lowest form in the least number of steps, you should first:
A. 
find the least common multiple of the 
denominators

B.
write the fraction 15/24 in simplest form

C.
write the fraction 4/8 in simplest form

D. 
find the greatest common factor of the 
numerators

E. 
none of the above

Bonus 7
Q: In order to add fractions with unlike denominators, you need to be familiar with all of the following concepts except:

A. multiples

B. least common denominator

C. addition of fractions with like denominators

D. prime numbers

E. none of the above

Bonus 8
Q: The first step you should take to solve the problem 3/5 - 3/5 × 3/16 is...
A. cross out both of the 3/5 fractions, since they cancel each other out

B. find the least common denominator of 3/5 and 3/16

C. multiply 3/5 by 3/16

D. write 3/16 in simplest form

E. none of the above

Bonus 9
Q: The mixed number 3⅝ is equivalent to:

A. 24/5

B. 15/8

C. 29/5

D. 11/4

Bonus 10
Q: To correctly solve the problem 2/8 ÷ 3/5 - 3/10 × 4/3 you must
A. simplify 2/8 after dividing it by 3/5
B. Multiply 3/10 by 4/3 first
C. Divide 2/8 by 3/5 and subtract 3/10 from that number
D. Multiply 3/10 by 4/3 and subtract 2/8 ÷ 3/5
E. none of the above
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